Joooonin

DOdOxOddx ddx dd

goog

oooooao

ool




( - ) SS400-D
4O ba
p0 ba
- © H500-2
X X
p
12 x
12
9
22
3mm h
1 3
1 2
( )y 1 4.0
( )y 2 4.0
| ! |
:f 660 o o0o| |
Y= fp 1
80 o o0 o oG i
2 el 1
(1D 1 (C1-Df 1
I ‘ :Wp ‘ 1
E\L T : T
— oo | o o T
A o 6|0 o
o $$ $$ wp
o O O @
o o O @
B VIR Y (AN
(1), 1 (11,1

- ) F10T-D
1.50
4o ta 210  N/mm? (S5400)
Wl a 120 N/mm?
Wo a 355  N/mm? (S5400)
p0 ta 210  N/mm? (S5400)
pT A 120 N/mm?
p0 a 355  N/mm? (S5400)
gT a 285  N/mm? (F10T)
X
p p
200 460
80 460
380 310
2.20 cm
2.50 cm
« » 2 2 «C
« » 2 5 «C
cm
cm i 1 7.5 ocnm
i 2 12.0 cm
w 1 7.5 cm
w 2 7.5 cm
w
—>| <
¢ | — ]
f#\;l \ = Il
o 2 | [
o Zutr T
=Y
wp
P l
P — ] L/ \U L |
v /l\ lI Ilif
p
fp 1 ! /r




€))
D

2)

A, f

112.20
2
49_40 cm’

172

X

fl
50 on jﬁ — Fl —
20 cm [] H/2
w 1.0 cm W
f 1.6 cm o
1.3 cm 0 v
112.20 cmw’ 0 A H/2
1870 cm® J -
46800 cm' v 1 = &I (e R
h 2.50 cm
2 2 ( )
1.00 X 5 12.50 cm?
Ag w
50 2 X 1.60 12.50
1.60 X 2 8.00 cm?
2 f 2 Ay
1.00 X 50 2 X 1.60
8.00
49.40 34.30 83.70 cm?
2.50 X 1.60°3 x 2
12
1.707 cm
172 £ 2 A f
24.200° 1.707 4687 cn’
2 X 4687 9374 cn’
46800 9374 37426 cm*
37426
2500 1497 cm




@)

Tl

Tl

T2

T2

wl

2

2.50

wp

38.00

wp

wp

X

0.90

0.90

22.95

1 20.0 cm
1 1.20 cm
2 8.00 cm
2 1.20 cm
h 2.50 cm
2 2
2 6.00 cm’
6.00 18.00 cm?
2 6.00 cm’
6.00 13.20 cm?
13.20 62.40 cm?
wp 38.0 cm
wp 0.90 cm
2 5
5 11.25 cm?
11.25 22.95 cm?
45.90 cm?
108.30 cm? > 83.70 cm?
—0K-

)




®
D

fp 1°

A, Tl

fp 2"

A, 2

2)

Ap wl

3)

2

7 1 20.00 cm
h 2.50 cnm w1 1.20 cnm
2 2 ¢ 5 » f1  18.00 cm?
2 5 ¢ ) o 2 8.00 cm
o 2 1.20 cm
p 2 13.20 cm?
w1 h 2
20.00 3( 2.50 x 2 15.00 cm
1" 1 15.00 x 1.20°3
fp fp _ 4
12 12 = 2.160 cm
o FL 172 172 ¢ 1 2 Ay 1
18.000  x 25.600 2 2.160 11799 cm'
2 g 2 h 2
2 x 8.00 ( 2.50 x 2 11.00 cm
2" 2 11.00  x 1.20°3
fp fp _ 4
12 12 = 1.584 cm
o 2 172 f 172 ¢ 2 2 Ay f2
13.200  x 22.8002 1.584 6863 cm'
2 » f1l , f2 2 x (11799 6863 37324 cnt
wp 38.00 cm
wp 0.90 cm
w 2 7.5 cm
3 3
0.900 x 38.00
wp wp _ 4
12 12 = 4115 cm
2 2T 281.25 ci? GT
h o 3
wp
h w 2% 2 1 ﬁz
2.50 x 0.90 x 2 281 o ﬁl
5 N 0.90 x 2.50° c 1
12 0
1271 cn*
2 . wl A, wl 2 x ( 4115 1271 5688 cm'
p T pow -
37324 5688 43012 cm' > 37426 cn' -0K-




1)
4O ba 210  N/mm?
- 1497 com®
r 4O ba -
210 X 1497 x 10° 314370000 N mm
« 0
J/fp 1 0 UL
o - T - N P /fpoll
[ J— i S i =1 1 B 50 12
w275 S o 00| 1 Tfp 2 11 l T w0 12
S o] w e v w0 U
" S o | OO 0 0 |
> O OO
[T 111 111 ] ] I ]
Ll | I | 111
L T 1 11 1 I
2)
S 43012 cnt
4
o . p T p T 37324 cm
25
37324
314370000 X 43012 272797031 N mm
4
.l o f 2 p Tl p Tl 11799 cm
p T
23598
272797031 X 37324 172475199 N mm
Ul 172 o 1 1/2 x  50.0 1.20 26.20
fl
70 Ul 2PP f ul »0 ba
172475199 26.20 5 5
2 x 11799 X 1000 191 N/mm < 210  N/mm
—0K-
p 11 172 1/2 x 50.0 25.00 cm
fl
70 11 2PP f 11 »0 ba
172475199 25.00 5 5
23598 X 1000 183 N/mm < 210  N/mm
—0K-




p T2

fp U2

0 U2

W 12

w0 12

p T1

p T2

272797031

1/2 T

2
2, f2 W

100321832
13726

1/2 f g
1/2 x  50.0

2
P
2 , f2 12

100321832
13726

O UL o 11
2

191
2

0 U2 g0 12

2
171
2
p 1 , T2
(F10T)
22 B 174
2 g gl a
2 X
f o0a
22 X
p T
2

183

162

2

2 6863 cm'

13726
37324 100321832 N mm
1/2 x  50.0 1.60 23.40 cm
p0 ba
23.40 5 5
1000 171 N/mm < 210 N/mm
—0K-
1.60 1.20 22.20 cm
p0 ba
22.20 5 5
1000 162  N/mm < 210  N/mm
—0K-
gl a 285  N/mm?
4o a 355 N/mm?
f1l
X 18.00 x 10? 336600 N
2
X 13.20 x 10? 219780 N
336600 219780 556380 N
Tt z 3.801 cm® -  380.1 mm’
380.1 X 285 216657
124960 N
16 X 355 124960 ( ) -]
556380
3 X 2
92730 N < 124960 N -0K-




P 43012 cm4
W r pow P W 5688 cm4
Zp
5688
314370000 x 23012 41572969 N mm
w U120 1/2 x  38.00 19.00 cm
poW
w0 U W wp U pO a
41572969 19.00 , ,
5688 1000 139 N/mm < 210 N/mm
_OK_
(F10T) , ,
22 8 /4 m 2 3.801 cm® -  380.1 mm?
1 2 g gl a
2 x 380.1  x 285 216657
2 w 4O a 78100 N
22 x 10 x 355 78100 ( Dw a
1
A
o o - X
5 1
m 1 2
O S8
$///G‘ yAN, n [ 2 5}
2 2 \
©- ©- -
2 Sy /\/ . ,
x> Cy 9)
& ©  mo
%é
p /12 1 2 ,1* 1*1 22 221
/12 x 2 x 5 «x 7.50% x 272 1
7.50% x 5° 1
1266 cm?
m 3.75 cm
m 15.00 cm
m ./ 3.752 15.00 2 15.46 cm
41572969 15.00
p
X Ip X m 1266 X 10 49257 N
41572969 3.75
p
y Ip X m 1266 X 10 12314 N
] 41572969 15.46
m X m X
Ip 1266 10
50768 N < 78100 N -OK-




D

2)

3

pT

qT a 120 N/mm?
woWw" o 34.30 cm?
3430 mm?
qT a how"
120 X 3430 411600 N
p W 45.90 cm?
4590 mm?
r
W pT a
411600 2 2 _0K=
4590 90 N/mm < 120  N/mm oK
gl a 285  N/mm?
4o a 355 N/mm?
W 1.0 om
(F10T)
22 . /4 2 3.801 cm® —~  380.1 mm?
2 5 gl a
2 X 380.1 X 285 216657
78100
W 4O a —_—
22 x 10 x 355 78100 ( Db
r 411600
1 2 2 X 5
41160 N < 78100 N -0K-
X 49257 N/
y 12314 w/
( ) s 41160 N/
4/ 2 y S 2
./ 492572 12314 41160 2
72703 N < 78100 N -0K-




X X X

PL 12 x 200 x 460
PL 12 x 80 x 460

200

500

FIOT : 22 - 24 L= 80 mm
L = 75 mm
PL 9 x 380 x 310
FI0T : 22 - 20 L= 70 mm
L = 65 mm
460
%Hé
2 |
- 60O 000
- — = _ e 25
= I A
%‘
80
A 1§0 ;50 &
2075 2075
310
-1
\V L |
N 18 OO OO
Z o 2338
25
¥ 56 6ol d
v " Teg SO &
A . — — :
80,
40 A @L 40
1075 1075
200
10 X X X
=Y ———
q‘\ I 111 \ fl NN |
80 | A PL 9 x 380 x 310
NN
S 2 PL 12 x 80 x 460
‘(:: l| T 1 U |l i\{/:
| wamm| 12
N
g 1T \PLleZOOX460
200




